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(*) Instructions to candidates:

1) Answer Q.1 OR Q.2, Q.3 OR Q.4 and Q.5 =
2)  Figures to the right indicate full marks.
3) Use of scientific calculator is allowed

4)  Use suitable data where ever required
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If u=x log(x+1)-r where r* =x” + y* find u_ +u

If u =x”, then show that
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Hx=rcos® ,y=rsin0 thenshowthat
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If  =cosec™ {%:’ show that
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If u=x"+y® ,where x = at®, y = 2a¢, find 5
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For the transformation x = e“ cosv,y=e"siny
Prove that 6(x 24 ) 6(u v) =]

o) olx,y) -

If u? +xv* —wxy = 0,92 - xy 2+ 2uv+ut =0,fi fnd—z;g

by proper choice of dependent and independent variables.
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Q.5) Attempt

OR
Fmd maximum and minimum values of
Xt +3x)° —3x? =3y’ +4
As dimensions of a triangle ABC are varied, show that the
maximum value of cos A cos B co s C is obtained when the

triangle is equilateral. :
Find the percentage error in the area of an ellipse when an error 18

1% is made in measuring its major and minor axes.
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1) Rankofthematrix A=|1 -1 2 —ljis

a) 1

g o3l
By2 e} d) None of these
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[4 marks]

[4 marks]

[2x10=20 marks]

2) If Tisan identity matrix of any order which of the following statement is correct
a) Rank of matrix= trace of matrix ‘
b) Rank of matrix> trace of matrix
¢) Rank of matrix< trace of matrix
d) None of these

3) If2and 3 are the eigen value of 4=

The value of ‘@’ is
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a) 6 b)-1 ¢)1 d)-6

4) Real part 10g(3 z 41_} is

a1

34

b) tan™ —;l o)2logs O

5) The value of (sin @ + cos 9)'is

a) (cosn0+sinn9) b) cos(m9+%)+isin(n9+%j

) cos(— né+ —271) + i sm(— né + —2—) d) none of these

6) In the expansion of sinx about x = 5 the coefﬁment of (x - Zrz—j is

a)l

7)The series Z

16 )0 d) 1\24 g
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is convergent by

a) Cauchy S root test b) Ratio test ¢) Compar1son test d) Raabe’s test
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9) The value of lim R \is
-l x—1 logx »
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